
  


                                            :ا�����ى ���� 
  ���ــ
 و ��ــــ� :ا��ــــــــــــ�ة     را��

  

  )���ط  6: ( ن�א�ول�����א�����*

 –ا)-��ض ا+��*�%  –ا)��ح ا��&��%  - ا�$����ز -إذا ���� أن ا�����س ا����ي ���� �� �� ا���ء
  ا�$��4�5ول  –�*�ت ا��0/�� –ا)-��ض ا�&.�% 

 -&د أ�7 ا����89ت ا�*�?$% �� ا�/<�5= >6 ;&ول �� :��/�� ا�89اء ا)6�7 •
  A?�*�وا�89اء ا�<�5= ا 
 -&د ا����89ت ا�/6 ?�4 �<4 ا�B�4C ا�&��ي  •
  H�� �5�G و�7ل ا)-��ض ا+��*�% إ�F :��� ا����E% ؟  •
             � �

  ) ���ط  6: ( ن�א��������א�����*

 I�7د أن ��5= أ�� F/- %�45H ه&� IK. 4ھ�Mإ F�� ��N*�ا G���? %���� ء�*Mأ %��O P:�H &�-أ Q��ا  
 P:��ا RS�� 6< 4اض�% �� ا)���4ت �$Tة ظ&� &�Hو  

 �� ��ع -IK. %�4 ا��& � X&/5��F ذ�H W�8T� =CNه ا��4K% ؟  •
•  �TH�>.ذ�4 أ R� %H�7Zا RS�� 6< 4تT4اض ا�/6 ظ�4ج ا)N/.ا  

    
    

  )���ط  8:(  א�و�����א�د�����*

�M��ا GS�? 6]ھ�ا X 6��^�ھ�ا[6 وا ��أ-&ھ ��C.4ة >6 و��N�ا ���: RS4 وMر إ�/.�H Q����ا �T��� �`- %�>�4$? A]�/� %���/�ا %�  
•  ��C.��/���% >6 ا�4ة ا���N�رن �/�% ا�a 
•  ��C.��6 ا< %��T/5��% ا�4�5 ا��رن ��a 
•  ّQ.  ��C.��6 ا< ��/Mد�K�ھ4?�� ا�c�ا 
 >6 ا����N  تا./*/A دور ا���4�5 •
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 %��� %��T/5��غ 45  غ 150  ا�4�5 ا  
  0.255  1.970  �/�% ا�N��4ة ا�����% 

 %��T/5��% ا�4�5 ا��غ 45  غ 150  �  
  0.255  1.970  �/�% ا�N��4ة ا�����% 

  ھ�ا[6 و.= X   و.= ھ�ا[6  ا��ــــــــ4وط

  أ4TO 03  أ��م 09  ا��ـــــــــــ&ة 

  % P��4?%  05 %  05 ا�4�5 

  Q$-)��� (  3000  3000 ا����Kل 

  غ 150  غ 150  ا����% اHX/&ا[�% ��4�5

 %��T/5��% ا�4�5 ا��غ 45  غ 150  �  

  0.255  1.970  �/�% ا�N��4ة ا�����% 


